SOLUCIONES TEMA 4

Pag. 104]1) 0'42 2) 0'62
Pag. 105]1) cosa=—0'78, tga=—0'79 2) sena=—0'56 , tgo=0'67

3) sena=-0'68, cosa=0'74

Pag. 106]|1)a) —0'84, —0'54,1'54

2)a)36°,36° b) 132°,132° ¢)285°, —75° d)295° —65° €)52°,52° f) 180°, 180°
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Pag. 107 |1 ——  b)——= 1 d)—
i 107]D0) -5 B> 91 @

[Pag. 109] 1) 55° —0'82,0'57,1'43 ; 125° —0'82, —0'57, —1'43
145° - 0'57,—-0'82,—-0'7 ; 215°——-0'57,—0'82,0'7
235°——0'82,—-0'57,1'43 ; 305°— —0'82,0'57,—1'43
325°——0'57,0'82,—0'7
2) sen358° = —sen2®, cos358° =cos2°, tg358° = —tg2°
senl56° =sen24°, cosl156° =—co0s24°, tgl56° = —tg24°
sen342° = —senl8°, cos342° =cos18°, tg342° = —tgl8°
1) a) 17'43cm  b) 26'84cm  ¢) 396'69m, 39'07° d) 56'0lcm  ¢) 66'05cm

2) 5'87m 3) 14122'8m’
Pag. 113]1) 154'18m 2) 60'49m 3) 26'35cm 4) 125'97m, 139'9m

Pag. 115]3)a) Z  1)90° ) Dos soluciones: 41'81° 6 138'19°  d) 30°

Pag. 117|4)a) A=48'51°, B=92'87°,C=38'62° b)c=17'24cm, A=15'13°, B=124'87°
c) A=92'87°,B=48'51°,C=38'62° d)a=5'59cm, B=43'72°,C=31'28°
€) b=2'93m,c=3'59m, A =75° fla=c=3'05m, B=110°

5) 11'87cm, 84'92cm? 6) 36'4km, 40'4km 7) 25'2m, 26'9m, 24'3m



Pag. 122|1) a) cosa:%, tga:\/—3— b) senu:g, tga=1

V21 27 55 355
c) sena=——, cosa=——  d) cosa=——, tga=——
7 i 8 55
e) sena=0'69, tgaa=0'96 f) sena = 3 10, coscx:——19
10 10
2)

sena 0'92 0'6 0'99 0'6 0'5 0'97

cosaw | —0'39 | —0'8 | —0'122 | —0'8 | —0'87 | —0'24

tgaa | —2'36 | —0'75 | —-8'25 | —0'75 | —0'57 —4

V5 5

3 4
3)a) cosa=——, tgox = — b) sena = ——, tgor = ———
) a) cosa s =y ) mne 5o

2
3410 Jio

c) sen =——, coOsqua=———
10 10

4) a) sen30° b) —cos45° c¢) tg30° d) —cos45° e) —send5®  f) —tg60°
g) —tg20°  h) —cos20° i) —sen70°
5)a) 0'35  b)0'94 ¢) —0'35 d)—0'35 €)0'94 ) 0'35

213 313 3 213 3J13 2
6)2) =3 D=3 937 973 93 b—3

7)a) 228'59°  b) 248'28°  c) 234'07°

8)a) c=13cm, A=22'62°, B=67'38° b) b=57'06,c=71'45m, B=53°
c)b=11'2,c=13'2,A=32° d)a=5'48km,b=1'89km, B=19°

9) 36'87° 10) 1'53m, 1'29m 11) 5'21cm, 15'13¢cm

12)a) 4'64cm  b) 9'64cm  ¢) 14'49cm d) Ocm

13)a) 7'98cm, 13'25cm, 8'18cm  b) 87'78cm?, 99'38cm’, 114'52cm’

14) A=112'73°, B=41'81°, C=125"46° 15) 27'47cm




Pag. 123116) a=12'33m, b=9'68m 17) b=29'98m, C =36'84°

18)a) a=10m, c=11'67m, B=103° b) c=19'79m, A =35'42°, C=39'58°
19) 411'14m, 322'62m  20) 20'42m 21) A=15'58°, B=43'12°,C=121'3°
22)a) c=21'9cm, A=29'93°, B=110'07° b) b=79'87cm, A =74'69°, C=40'31°
c) A=30'17°, B=17'82°, C=132'01°
23) 77'44m
24)a) b=77'83m, c=94'82m, A=70° b)a=16'54m,c=10'09m, B=75°
) c=75'32m, A =62'72°, B=44'28° d) b=281'57m, A =22'04°, C=37'96°
e) A=38'62°, B=48'51°,C=92'87° ) A=32'66", B=93'3",C=54'04°
g) c=7'54m, B=27'36°, C=22'64° h)a=9'49m, A=84'02°, B=38'98°
25) 0'58m 26) 27'81km 27) 3'83cm, 4'14cm

28) b=9cm, c=4'67cm, B=99'34°, C=30'66"

29) 120° 30) 6'65km, 9'38km 31) 60°

Pag. 124132) L=14'67m,1=6'55m, d =13'87, S =90'31m’
33) no, estan a 291'43km 34) 5'54cm 35) 79'82m 36) 74'98m
40) 2'18m 41) 156'96m 42) 301'04cm’ 43) 45'24°

1) B=54'31", C=35'69"
2) 154° — sen26°, —cos26°, —tg26°; 207° — —sen27°, —c0s27°, tg27°
318° — —send2°, cos42°, —tg42° ; 2456° — —sen64°, cos64°, —tg64°
3 4 4 4 4 3
3)a) r b) 3 c) 3 d) 3 e) 3 ) 3
4) o =5rad, sena =—0'96, cosa=0'28
5) 150'23cm’ 6) 9'52m
7)a) b=24'72cm, A=97'17°, C=34'83°
b) Dos soluciones: A, =42'99°, C, =107'01°, ¢, =21'04cm
A, =137'01°,C, =12'99°,¢c, =4'%94cm

8) 114'98m, 92'41m 9) 45'36cm




